flux

AP/ 2.492

AP/ 2.499

Fe2 + Continuum Fit

oy 854 km/s
T

Opep 100 +/— 340 km/s
—es - L

Rest A (&)

Fe2 Scale Factor x2 Diagnosis

= 2.492

o, 854 km/s 0.03466(134) szin / 4569 = 2.492
T T T T T T T T T T T T T T T T
L RMS 5.71 _
S| MAD 4.97
o L _
Te}
L ) _
o *
L L L | L L L L | L L L | L L L L | L L |
0.02 0.03 0.04 0.05 0.06
Fe2 scale factor
Fe2 Velocity Dispersion x2 Diagnosis
o, 100 2023 prior 225 km/s —820(340) szin / 4569 = 2.492
[ T T T I T T T T I T T T T I T T T T I T T T T I ]
gL |rm299 RMS 32.0 ]
~r MAD 21.9 1
ot _
o — —
3 | "‘“‘ Hh)‘ I Z
ol i ' l!llllll!iwilixill\\' '
: "c ]
ot _
o — —
b J
L oy
0 500 1000 1500 2000 2500

Fe2 Dispersion (km/s)



